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Directions (1-5): Each of the questions below consist of a question and two statements numbered I 
and II given below it. You have to decide whether the data provided in the statements are sufficient 
to answer the question. Read both the statements and give answer. 
(a) if the data in statement I alone are sufficient to answer the question, while the data in statement II alone 
are not sufficient to answer the question. 
(b) if the data in statement II alone are sufficient to answer the question, while the data in statement I alone 
are not sufficient to answer the question. 
(c) if the data either in statement I alone or in statement II alone are sufficient to answer the question. 
(d) if the data in both statement I and II together are not sufficient to answer the question. 
(e) if the data in both statement I and II together are necessary to answer the question. 
 
Q1. How many daughters does K have? 
I. L and N are the only sisters of M. 
II. N’s mother is K who has only one son. 
 
Q2. How is Sushma related to Nandini? 
I. Sushma’s husband is the only son of Nandini’s mother. Nandini is a female. 
II. Sushma’s brother and Nandini’s husband are cousins. 
 
Q3. All children are facing north, How many children are there between M and P in a row of 
children? 
I. M is fifteenth from the left in the row.  
II. P is exactly in the middle in a row and there are ten children towards his right. 
 
Q4. Who among P, Q, R, S and T is the heaviest? 
I. Q is heavier than R and T but lighter than only S. 
II. R is third from the top when they are arranged in descending order of their weight and is heavier than 
T and P. 
 
Q5. How is ‘go’ written in a code language? 
I. ‘you may go’ is written as ‘pit ja ho’ in that code language. 
II. ‘he may come’ is written as ‘ja da na’ is that language. 
 
Directions (6-10): Each question below is followed by two 
statements I and II. You have to determine whether the data given 
in the statement is sufficient to answer the question. 
Give Answer— 
(a) If the statement I alone is sufficient to answer the question, but the 
statement II alone is not sufficient. 
(b) If the statement II alone is sufficient to answer the question, but 
the statement I alone is not sufficient. 
(c) If either the statement I alone or the statement II alone is sufficient 
to answer the question. 
(d) If neither of the statements are sufficient to answer the question.  
(e) If both statements I and II together are needed to answer the 
question.  
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Q6. If “Kamal and Raghav are friends” is coded as “mr ea sf ua ad”, in a certain code language. Then 

how “hockey” is coded in that language? 

I. “Kamal plays cricket” is coded as “kr mr ps”. 

II. “Raghav plays hockey” is coded as “ua ce ps”.  

 

Q7. Who is the tallest among A, B, C, D and E.  

I. C is shorter than D but taller than at least two people, E is shorter than B. 

II. D is taller than at least 3 people. A is taller than E and C.  

 

Q8. In a family of 5 people. How is A related to B? 

I. C is father-in-law of B and B is the father of A. 

II. A’s sister is D who is B’s daughter. C is the grandfather of A. 

 

Q9. How many students in standard V of our school do not play chess? 

I. No girl has interest in chess. 

II. In standard V, there are 40 boys. 

 

Q10. What is the distance between point P and point Q? 

I. Point R is 10 m west of point P and point S is 10 m north of point P. 

II. Point Q is 10 m south-east of point R. Point S is 20 m north-west of point Q. 

 

Directions (11-15): Answer the following questions referring to the symbol-letter-number 

sequence given below: 

 

X  W  5  L  S  2  &  Z%O  M  1  N  3  G  B  I  9  D  6  Y  4  ~  J  7  E 

 

Q11. Which of the following is exactly midway between the tenth element from the right end and 

fifth element from the left end? 

(a) O  

(b) M  

(c) 1  

(d) %  

(e) None of these 

 

Q12. How many letters are there in the above sequence which are immediately preceded by a 

number and immediately followed by a consonant? 

(a) None  

(b) one  

(c) Two 

(d) Three  

(e) None of these 
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Q13. What should come in place of the question mark (?) in the 

following sequence? 

?,     2OL,     %N& 

(a) 5&X  

(b) LZB  

(c) SZ5  

(d) 5&N  

(e) None of these 

 

Q14. Which of the following is the eleventh element to the right of 

the second element from the left end in the above sequence? 

(a) 9  

(b) 1  

(c) Y  

(d) 4  

(e) None of these 

 

Q15. If the whole series is written in reverse order (E at the leftmost end and X at the rightmost 

end), then which of the following element will be second to the right of W? 

(a) &  

(b) X  

(c) 5  

(d) L 

(e) None  

 

Direction (16-20): In the following questions, the symbols @, $, ©, % and # are used with the 

following meanings as illustrated below: 

‘A $ B’ means A is neither smaller than nor equal to Q 

‘A # B’ means A is not smaller than B 

‘A @ B’ means A is not greater than B  

‘A % B’ means A is neither smaller than nor greater than B. 

‘A © B’ means A is neither greater than not equal to B 

In each of the following questions, assuming the given statements to be true, find out which of the two 

conclusions I and II given below them is/are definitely true.  

 

Q16. Statements: U # N, N © W, W @ R, R % D 

Conclusions: I. U # W  

II. D # W 

III. N © R IV. U © D 

(a) Only I is true  

(b) Only II and III are true.  

(c) Only I and III are true  

(d) None is true.  

(e) None of these  
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Q17. Statements: B % H, E © H, E @ L, L © P  

Conclusions: I. B © P  

II. P $ E 

III. H $ L IV. E % B 

(a) Only I is true.  

(b) Only II is true.  

(c) Only III and IV are true.  

(d) All are true. 

(e) None of these  

 

Q18. Statements: M © T, T # J, J $ K, K % Q 

Conclusions: I. T $ Q  

II. J $ Q 

III. T # K IV. M © Q 

(a) Only I and II are true.  

(b) Only III are IV are true.  

(c) Only II and III are true.  

(d) Only I is true.  

(e) All are true. 

 

Q19. Statements: R © D, D # L, L @ M, M © P 

Conclusions: I. M $ R  

II. D # P  

III. L © P IV. D % M 

(a) Only I is true  

(b) Only II and IV are true. 

(c) Only III is true.  

(d) None is true. 

(e) All are true 

 

Q20. Statements: W @ F, F $ M, M © D, D @ T 

Conclusions: I. F $ D  

II. T $ W 

III. M © W IV. T $ M 

(a) Only I, II and III are true  

(b) Only II and III are true. 

(c) Only II is true.  

(d) Only IV is true.  

(e) All are true.  
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Directions (21-25): Each of the question below consists of a question and three statements 

numbered I, II, III given below it. You have to decide whether the data provided in the statements 

are sufficient to answer the question. 

(a) If statements I is sufficient to answer the question, but statement II by itself is not sufficient to answer 

the question.  

(b) If statement II by itself is sufficient to answer the question, but statement I alone is not sufficient to 

answer the question. 

(c) If statement either I or II is sufficient to answer the question. 

(d) If both the statements I and II taken together are not sufficient to answer the question. 

(e) If both the statements I and II taken together are sufficient to answer the question.  

 

Q21. Who is tallest among five friends A, B, C, D and E? 

I. D is taller than at least two of his friends 

II. E is taller than A who is taller than D. 

 

Q22. How is A related to B? 

I. A is B’s maternal grandfather’s only daughter. 

II. B’s mother D is the daughter of C. 

 

Q23. P and Q are father and mother of M, respectively. M has three uncles and five aunts. P has three 

siblings. The siblings of P and Q are unmarried. How many brothers does Q have?  

I. P has two brothers. 

II. Q has five siblings. 

 

Q24. Is A > B or not? 

I. A > C =D < M ≥ N 

II. P < B < O <L 

 

Q25. How many children are there between A and B in a row of children? 

I. A is fifteenth from the left in the row. 

II. There are ten children towards right of B. 

 

Directions: (26-30): Study the following information carefully and answer the questions which 

follow– 

In a certain code language,  

‘small and medium groups’ is coded as ‘du fla kha gi’,  

‘medium enterprises are good’ is coded as ‘flu kli du fu’,  

‘groups should be good’ is coded as ‘dlu ka kli fla’,  

‘small enterprises earn more’ is coded as ‘gi hla flu dfi’ and  

‘be more’ is coded as ‘ka hla'.  

 



7 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com 

 

Q26. What is the code for ‘and’?  

(a) du  

(b) gi  

(c) fla  

(d) kha  

(e) Cannot be determined  

 

Q27. What does ‘dlu dfi’ stand for?  

(a) should earn  

(b) should do  

(c) earn more  

(d) should more  

(e) do earn 

 

Q28. What does ‘hla’ stands for? 

(a) and 

(b) should  

(c) earn  

(d) more  

(e) do 

 

Q29. What is the code for ‘medium’?  

(a) du  

(b) gi  

(c) fla  

(d) kha  

(e) Cannot be determined  

 

Q30. What does ‘flu fu’ stand for?  

(a) should earn  

(b) enterprises are  

(c) earn more  

(d) should more  

(e) do earn 

 

Directions (31-35): Study the information and answer the following questions: 

In a certain code language  

“Sleeve Weshing Cold tray” is written as “K22 D20 N23 Q2”,  

“Veer Hold Fells Objects” is written as “D9 N23 D8 A8”,  

“Entire Money Board Perfect” is written as “M22 N2 N23 D7”,  
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Q31. What will be the code for ‘HELLO’ in the given code language? 

(a) G7 

(b) G18 

(c) G19 

(d) F7 

(e) None of these 

 

Q32. What will be the code for ‘HORSE’ in the given code language? 

(a) M22 

(b) N23 

(c) N21 

(d) O22 

(e) None of these 

 

Q33. Which word can be coded as ‘S7’ in the given code language?  

(a) Stray 

(b) Strain 

(c) StoP 

(d) Both a and c 

(e) None of the above 

 

Q34. What will be the code for ‘ANIKET’ in the given code language? 

(a) G7 

(b) N7 

(c) M7 

(d) L7 

(e) None of these 

 

Q35. What will be the code for ‘Bhavani’ in the given code language? 

(a) G17 

(b) G19 

(c) H18 

(d) J18 

(e) None of these 

 

Direction (36-40): Study the following information and answer 

the given questions. 

In a certain code language, 

‘small and groups’ is coded as ‘O31 W5 H26’,  

‘medium enterprises are’ is coded as ‘N26 H24 V6’,  

‘should More good’ is coded as ‘W23 V18 W11’,  
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Q36. What will be the code ‘V7’ stand for in the given code language? 
(a) ARE 
(b) BYE 
(c) ACE 
(d) ARAY 
(e) None of the above 
 
Q37. What will be the code for ‘worker’? 
(a) I41  
(b) D41  
(c) I31 
(d) I21 
(e) None of these 
 
Q38. What will be the code for ‘ better best’? 
(a) I20 G22  
(b) I22 G20 
(c) G21 I22 
(d) D11 L20 
(e) None of these 
 
Q39. What will be the code ‘H15’ stand for? 
(a) HAS 
(b) AIRS 
(c) ADD 
(d) PLUS  
(e) None of these 
 
Q40. What will be the code for ‘those’ in the given code language? 
(a) U25 
(b) W34 
(c) V23 
(d) U24 
(e) V25 
 
Direction (41-45): Study the following information carefully and answer the given questions. 
 
There are 7 friends namely A, D, B, C, G, E, F living on different floors of a seven-storey building but not 
necessarily in the same order. Also they belong to different cities i.e. Sultanpur, Etawah, Gorakhpur, 
Lucknow, Kanpur, Azamgarh, Banaras but not necessarily in the same order. 
C is not from Etawah or Azamgarh. B lives on an even numbered floor and belongs to Gorakhpur. There are 
two floors between A, who belongs to Lucknow and B. A lives above B. G lives on an odd numbered floor 
below floor 4. The one who is from Sultanpur lives just above the one who belongs to Etawah. Neither B 
nor G is from Etawah or Sultanpur . More than 4 persons live between the one from Lucknow and Kanpur. 
There are as many persons living between A and E as there are in between E and F. D lives above C. More 
than 1 person lives between D and C.  
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Q41. Who among the following lives on 3rd floor? 
(a) B 
(b) C 
(c) G 
(d) F 
(e) None of these 
 
Q42. Who among the following belongs to Sultanpur? 
(a) B 
(b) C 
(c) G 
(d) F 
(e) None of these 
 
Q43. Which of the following combinations is correct? 
(a) G-4th-sulatnapur 
(b) E-7th-gorakhpur 
(c) F-3rd-etawah 
(d) C-2nd-banaras 
(e) None of these 
 
Q44. Four of the following are alike in a certain way so form a group, which of the following does 
not belong to that group? 
(a) the one who lives on 7th floor 
(b) D 
(c) the one from Etawah 
(d) G 
(e) the one from Azamgarh 
 
Q45. How many persons live between D and F? 
(a) one 
(b) two 
(c) three 
(d) more than three 
(e) none  
 
Directions (46-47): Study the following information carefully to answer the given questions 
 
There are 6 members in a family namely A,B,C,D,E and F. C and E are one of the married couple.F is daughter 
of E, who is sister in law of D . B is father in law of E.D is unmarried . A is mother of C. 
 
Q46. How is D related to F? 
(a) husband 
(b) cousin 
(c) mother 
(d) father 
(e) can’t be determined 
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Q47. How is A related to D? 

(a) daughter 

(b) wife 

(c) father 

(d) mother 

(e) none of these 

 

Directions (48-50): Read the following information carefully and answer the questions given 

below: 

 

First 12 natural numbers are written from bottom to top. The letters of word ‘SIMPLE’ are written in 

alphabetical order against each multiple of 2 (One letter against one number) from bottom to top (starting 

from 2). There are 2 letters between M and R. There are as many letters between I and K as between I and 

J. There are 3 letters between R and K. A is above M. J is placed below R. (No letter is repeated against any 

number).  

 

Q48. Which is the second letter in word formed by letters against numbers 7, 9, 10 and 11? 

(a) E 

(b) P 

(c) A 

(d) K 

(e) R 

 

Q49. Which alphabet is written against no.6? 

(a) E 

(b) J 

(c) K 

(d) S 

(e) L 

 

Q50. How many letters are there between S and K? 

(a) Two  

(b) Three 

(c) One 

(d) Four 

(e) None of these 
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